




Parts List 
X1 X1 X1A B C

X3FX1

DX1

E G H

I J K

X3 X2

X1 X21 X10 X1

Bolt M6×30mm Allen KeyTable Panel

Right Armrest

Middle Support foot Backrest Cushion Table Foot

Left Armrest Seat Panel Backrest

Seat Cushion

Bolt M6×18mm

Washer

M

N

X11

Assembly Instruction SS16301

STEP1

3

J

7XM

7X

Three person sofa

Tip:Please insert each 
washer into each bolt 
first, then insert bolt 
with washer into frame.

A

C

D

J

M

J

M

M

J

M

J



J

J
M

J
M

B

E

E
K

J

J

H

H

I

K

K

Assembly Instruction SS16301

STEP2

STEP3

4

J

8XK

8X

J

4XM

6X

K 2X



Parts List 
X1 X1 X1A B C1

X2GX2

D1X1

F J HX10 X1
Right Armrest

Backrest Cushion Seat Cushion Allen Key

Left Armrest Seat Panel Backrest

Bolt M6×30mm

Washer

Assembly Instruction SS16301

STEP4

5

G

F

Two person Sofa

M X10



Assembly Instruction SS16301

STEP1

STEP2

6

J

6XM

6X

J

4XM

4X

A

C1

D1

J

M

J

M

M

J

M

J

B

J

M



Parts List 
X1 X1 X1A B C2

X1GX1

D2X1

F O P

Q J K

X1 X4

X1 X18 X8 X1

Bolt M6×30mm Allen KeyFootrest Cushion

Right Armrest

Backrest Cushion Seat Cushion Foot

Left Armrest Seat Panel Backrest

Footrest Panel

Bolt M6×18mm

Washer

M

N

X10

Assembly Instruction SS16301

STEP3

7

G

F

Single Sofa



A

C2

D2

J

M

J

M

M

J

Assembly Instruction SS16301

STEP1

STEP2

8

J

6XM

6X

J

4XM

4X

J

M

J

M
D2

B



J

P

O

P

K

Assembly Instruction SS16301

STEP3

STEP4

9

J

8XK

8X

G

F

Q

Tip:Please attach the 
strap together to fix 
the seat cushion.


